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Topic:- Physics

1) A uniform electric and magnetic fields are present along the same direction in a region. If a
positively charged particle is projected along the direction of the fields with a certain velocity,
then the path of the particle will be a ./

U 8 H gA o F vw-gae fagga AR gehr &7 Aleg § IR vw gemfa
For w1 fAfaa dor & wry & A R & vaifa R smar 8 & o1 71 A6t o
graT/gnat|

1. helix / Fsfarer (gfera)
2. straight line / |t ¥@T
3. parabola / 9ol

4. circle / ded

Correct Answer :-

. straight line / drefr Y@r

2) In a myopic eye, the image of a distant object is formed: /
v Jrgadl (ARRF) A9 #, g7 e avq A oy st @

1. Behind the retina / If¢aTT & @1

2. In front of the eye lens / 3IfAAT oed & TTHA

3. In front of the retina / I{¢=IT & ATHT

4. At the retina / I&AT 9T

Correct Answer :-

« In front of the retina / IT&aAT & TATH
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3) The Universal gas constant 'R’ is given by: /
AT e R e garT e o ¥
LR=C,/Cy

2.R=C,+C,

3.R=C,-C

4.R=C,/C,

Correct Answer :-

4) A body is thrown with velocity ‘u’ from the same point at different angles of projection
such that it has the same range in both the cases. If h; and h; are the heights reached
in the two cases, then hy + hy = i

v A Y garqor & faffe F1o ov wane g & 39 o' F A1y 39 TER ST S 8, B Qat Rafaat
# gaet W (o) 1 g §1 3 et Reufordi & a8 hy v h o St a& wgaard, @ hy + hy

2

-
g

5) Two coherent sources have their intensity ratio 81:1.The respective ratio of the
maximum intensity to minimum intensity in the interference pattern is: /

al WHFd (gHITd) Hial Hr Agar FT wqara 81:1 g1 safasor Yot F rfwas daar
HT FYAGH dIadT F T T FAA: FAM:

1. 10:1
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2.9:1
3.54
4.25:16

Correct Answer :-

. 25:16

6) The velocity of a particle is given by v=at + b / (t + c). The dimensional formula of
‘a’is: /

THFFUF ANV =at + b/ (t+c) RImaar g 'a’ w1 AT g 8:
1.T

2.L
3. LT2
4. LT!

Correct Answer :-

7) If a 10m long wire of resistance 12Q is connected in series with a battery of emf 6V
and a resistance of 3Q, then the potential gradient along the wire is:

(Internal resistance of the battery is negligible.) /

12 Q yfaRYer areT 10 e 41 T dR, 6V emf Y v dedi F wrer 3i¥ 3Q aret v wfader & @y
H@eT A 3T I § ot aR A FAsra yaora &:

(38 1 3afiks gfaRie servT §)
1.0.6 Vm!

2.0.45 Vm'!

3.0.4 Vm!

4.0.48 Vm'!

Correct Answer :-

8) A magnet can be completely demagnetized by: /
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UF o 1 et 9far gart gft e & Rgefsa R s g d:
1. Heating it slightly / & VST 16T Hh

2. Breaking the magnet into small pieces / ﬂ'ﬁ? FI BIC S.chs\i H iz
3. Dropping it into ice cold water /38 §% & 33 Ul H BISHT
4. A reverse field of appropriate strength / 39gFd el & Th AT a7 GEIRY

Correct Answer :-

« A reverse field of appropriate strength / 39gFd el & THh Quda a7 GEIRY

9) Which of the following statements is not caused due to atmospheric refraction? /
farafaf@a # ¥ Fla-a1 FYq F IYATA YT F FROT AE g1 82

1. Sun becomes visible two minutes before actual sunrise. / H:éi, grEdids HSTfERT T ar Adce
ugd fe@rs &ar gl

2. Twinkling of stars at night. / T # fAdRT &1 feAfeAmEm|
3. Sun appears higher than its original position. /H‘:éf 396AT Hel ufa @ a1 fg@s &ar gl

4. Sun appears red at sunset. /Fl‘:éﬁ' {-It\u(N-d & AT el ﬁ(@'lé’ 93T gl

Correct Answer :-

« Sun appears red at sunset. / Q:Ei' FEJ‘R—T—T & §HY o fe@rs gsdr gl

10) A concave mirror with a radius of curvature 0.2m forms an image of an object 0.1m high
placed 0.8m in front of the mirror. The size of image will be: /

0.2 HIeT TFaT PSAT aTeT TF Iade gUT, IHI WA 0.8 Hew gy & 0. 17 T
UF g 1 giafdq qarar g1 wfafda &1 smar gem:

1.0.014 m/ 0.014 A
2.0.067 m / 0.067 HIeX
3. 0.002 m / 0.002 Hrex

4.0.02 m / 0.02 HeX

Correct Answer :-

« 0.014 m/0.014 #Hiex

11) An owl is able to see properly even in dim light because: /

TF Iod Ag Yarr # off S & qma F watw g, FIH
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1. It is blind during daytime. / Ig & & GRTeA 37T g1aT gl
2. Itis very wise. / dg ag?r EJ"%TH?-T ?IT-IT %’I
3. It has big eyes. / STHT F3T 31W &IT £

4. It has a very large number of rod cells in the retina of its eyes. /

sﬂﬁaﬁﬁmﬁquaﬁr&{smﬁ%mmW(T%W)B’Fﬁ%l

Correct Answer :-

« It has a very large number of rod cells in the retina of its eyes. /
s it 1 IR F Tga T HEA A AAH AR ({5 Few) @ &
12) An aeroplane gets its upward lift due to a phenomenon described by the: /
feT qarr aftta w& "ear & FROT vF gaTE SETer FW A AN 54T ¢
1. Bernoulli’s principle / Satell T &gid
2. Pascal’s law / UT&hel &l e
3. Stoke’s law / ¥l &l fT#
4. Archimedes’ principle / 3TfhfasST Bgid

Correct Answer :-

« Bernoulli’s principle / S=ifell &7 f&gd

13) In an electromagnetic wave, the amplitude of electric field is 1 V/m and the frequency of

wave is 5 x 1014Hz. If the wave is propagated along the z-axis, then the average energy
density of electric field will be i

s fagga e ater A, fgga &7 &1 3T 1V/im § 3R ader @ smgfea 5x 101
Hz §1 I a3, 23181 & @y ywia gt § ot Rega &7 #1 sitwa st gaca
g1

1.2.2x 1012 joule/m® / 2.2 x 10712 Sfe/#T3
2.3.3 x 1012 joule/m3 / 3.3 x 10712 Sa/#13
3.4.4x 1012 joule/m3 / 4.4 x 10712 Sa/#13
4.44x 102 joule/m® / 4.4 x 10712 S/

Correct Answer :-

« 2.2x 1072 joule/m?® / 2.2 x 10712 Sfe/#P3
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14) Which of the following is NOT related to an ac generator? /
frrafaf@a & ¥ Fla-ar v vl A F Fafa a8 §2
1. Slip ring / Rera Rar

2. Field magnet / &1 ?:IDW

3. Split ring / TEcere Rer

4. Armature / 3R

Correct Answer :-

. Splitring / eere Rer

15) Two identical galvanometers are converted into an ammeter and a milliammeter. As
compared to the shunt resistance of ammeter, the shunt resistance of milliammeter will
be .

3 AEY deda et 1 v Ve (TEATd) IR v AeitHier # gREfda w1 e
Srar g1 e (vl F eie wfarer iy geen &, Preitdier 1 ae wfade
g

1. zero / eI
2. same as that of the ammeter / ¥HIeX (TFATAY) o THTT &
3. more that of the ammeter / ¥t (TFATd) & 310+

4, less than that of the ammeter / W& (TFATHY) & e

Correct Answer :-

+ more that of the ammeter / ¥t (TFATH) & 310+

16) How many angstroms are there in one nanometer? /

T AdidAey A fhaa e A gid 82
1. 102
2. 10*
3.10°
4. 10!

Correct Answer :-
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17) When a bar is placed near a strong magnetic field and it is repelled, then the material of
the bar is: /

99 UF I- 1 TF Yoo gahT & F 99 @7 1 ¢ AR gg S f 3R g g,
Id: R FT 9Ty (FHeRaeD) &

1. Paramagnetic / Hﬂw
2. Anti-ferromagnetic / FI'%—F—IT@W
3. Ferromagnetic / ﬂ‘f@'ﬂ'&'aﬁl?f
4. Diamagnetic / Qﬁw

Correct Answer :-

« Diamagnetic / Qﬁw

18) The electric field (E) applied across a conductor is related to current density (J) as: /
UF qaF A GgFd fAggd & (E), 4R geled (J) & W T A wafoa @

Eol]
Elec]
EoJ!

4 Eox ]

Correct Answer :-

Eo]

19) The net torque acting on a rotating system is zero. Which among the following will be a
non-zero constant? /

U Ui YUITell W FRRT Fo qomgel -7 g1 Amafaf@a & @ sla a1 e
i ghm?

1. Force / 9T
2. Angular momentum / 0N HAT
3. Linear momentum / Y& ddeT
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4. Impulse / 37397

Correct Answer :-

« Angular momentum / SO FAT

20) The unit of Power is: /
afFa i S B

1. Joule / et

2. Joule/second / Gj\?ﬂm

3. Kilowatt/hour / feheltare/eer
4. Kilowatt hour / ferellate ®er

Correct Answer :-

« Joule/second / GI(\?»T/W

21) The mass number of helium and sulphur are 4 and 32 respectively. The ratio of the
nuclear radii of sulphur and helium will be ./

fifeaer 3k wewt A gegaAE wEar FAw: 431 3281 weww ik fifoe i wwa
B &1 AT gl

1.2

2.8

22) The angular resolution of a 24.4 cm diameter telescope at a wavelength of 5000 A° is of
the order of /

5000 A° Y AEIGET W 24.4 A W a v qrat 1 Foiw Rseer afe
(3TET) T &Y B

1.105 rad / 107 Yf2a=A
2.10%rad / 104 2=
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3.100rad / 1070 2T
4.103 rad / 1073 2T

Correct Answer :-

e 10%rad / 100 YT

23) The mass ‘m’ of any nucleus varies with its volume V as: /

freY off AT FT GTATT ‘m’ TS AT V & WY @5 4R & deadr 8

m o V2
m oo/ V
3 m&V
4 mox1/V

Correct Answer :-

moV

24) The velocity of a particle at an instant is 10 m/s. After 3s its velocity will become 16 m/s.
Find its acceleration. /

TF HUT F dichliad a7 10 He/ASHs 81 3 AHs & d1¢ HFT AT 16 HeyAFs &
SATTINT| SHHT a0l AT HifAT|

1.2 ms™
2. 4 ms™2
3.3 ms™
2

4.1 ms’

Correct Answer :-

25) The velocity of a bullet is reduced from 100 ms™! to 50 ms !while travelling through a
wooden plank of thickness 10 cm. The retardation (assuming it to be uniform) will be: /

UF gAT F A7 10 W AR I & d&d § T & N 100ms | F gEF 50ms”
1 @ srar §1 #Aea (A= o F 98 ve-gH §) AT e
¥ collegedunia



1.3.0 x 104 ms™
2.4.0 x 10% ms™
3.2.5x 104 ms™
4.3.75 x 10* ms™

Correct Answer :-
e 3.75x 10* ms2

26) The frequency of rotation of a charged particle undergoing a circular motion in a
uniform magnetic field is independent of its ./

U A a7 H JedhR A § @ o el TF IARAT Fo1 & goier
amafed §0F ¥ TaaT gt Bl

1. intensity of magnetic field / W & hr dradr
2. mass / GcIHTT

3. charge / 3Taer

4. speed / dTel

Correct Answer :-

« speed / dTel

27) The total resistance of two resistors when connected in series is 9Q and when connected
in parallel is 2€2. The respective values of two resistances are: /

ar gferers st Aol & 2 @1 § Y T wfady 9Q ¥ 31 919 F FAEiaR w9 & 2 @ § o wfadi 20
21 St wfeRet & AT wever: §:

1.4Qand 5Q / 4Q 3R 5Q
2.2Qand 7Q / 2Q 3R 70
3.3Qand 6Q / 3Q 3R 6Q
4.1Qand 8Q / 1Q 3R 8Q

Correct Answer :-

« 3Qand 6Q / 3Q 3R 6Q

28) If a point mass ‘m’ is placed at the center of a spherical shell of mass ‘M’ and radius ‘R’,
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then the net gravitational force on the mass ‘m’ due to the shell will be: /



GeIHAT 'm' a1 U fig gegee ‘MY 3R B R A v demeR da F Fw A

@Y AT g1 AT F FROT GeAAT 'm' W TN qTAl Fol Yocalh¥oT Tl gHm:
1.0
GMm
2. R:
GM
3. R:
Gm
4. R:

29) A student has measured the length of a wire as 0.04690m. The number of significant
figures in this value is equal to .

TF B 7 TF dr T d«@r 0.04690 Hex A 3@ AT # FAgeaqut 3wt A wEAqT
¥ qUET ¥

1. five / 9T
2.six /| &g

3. four / IR
4. three / el

Correct Answer :-

o four / I

30) Parsec is the unit of: /
URAEF & FHE R
1. Time / §HI

2. Velocity / ddT

3. Distance / E{ﬂ'

4. Intensity of light / Jeprer I draar
Correct Answer :-
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« Distance / 3@'

31) A person is suffering from myopia where he/she is not able to see distant objects. To

correct this defect of vision, the person must use a .
% FfFd fAwcele AW (AR @ At & fowd FRor a8 ey avqgat # dwe
H FerH 481 21 T F 57 AW F e WA & AT FFT FT 39IT

LT =R

1. convex lens / 3cdol ol

2. plano convex lens / Tl 3cdel ofd
3. cylindrical lens / ST oI F

4. concave lens / 3/add oiF

Correct Answer :-

« concave lens / 3/ade o

32) At the highest point of a projectile, its velocity and acceleration are at an angle of /
TF YA F 3eaad g W, 39 A AR @wor 3w For W gher:

1. 60°

2.0°

3.90°

4. 180°

Correct Answer :-

« 90°

33) What happens during the propagation of electromagnetic waves in a medium? /

U ATEIH A fAggd b awt & WERor F SR F4r gar @2

1. During this process, electric energy density is double of the magnetic energy density./
S8 UihaT & SRIeT faegd Fail Helca, Jaehid Foll Teled & QI &1 STl B

2. During this process, electric energy density is equal to the magnetic energy density./

59 Uishdl & ERTeT fdegd Foll Gelcd, Yaohid Foil Eefcd & ST g1 STl &

3. During this process, electric energy density is half of the magnetic energy density. /

S8 ihaT & GRIeT faegd Fail Heica, Jaehrd ol Heled I 3TET &1 STl g
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4. During this process, both electric and magnetic energy densities are zero. /

S8 ihaT & GRIeT faegd 3R Yo Foil Telcd Al e 81 o

Correct Answer :-

« During this process, electric energy density is equal to the magnetic energy density./

38 ihaT & ERIeT faegd Foil elcd, Yaehid ol Heled & ST &1 STl g

34) What will happen to the resistance if a piece of copper and a piece of germanium are
cooled from the room temperature to S0K? /

I a9 F wF g3 AR FTARIT F v TS F FaAT A9GAT W 80K aF 31 R
STar & aY gfaer &1 F=r T 82

1. Resistance of both copper and germanium decreases. /
et 3R ST et # Sfakie gedT g
2. Resistance of both copper and germanium increases. /
dier 3R SEfead gt @ gfoirer searn gl
3. Resistance of copper decreases while that of germanium increases. /

de &7 9faQY gedr §, Sdieh JIHIH &7 dedT gl

4. Resistance of copper and germanium remains the same./

arer 3R SHRTE &1 gfay AT Wwar g

Correct Answer :-

« Resistance of copper decreases while that of germanium increases. /

die &7 9faAY gedr §, Sidfeh JTHIH &7 d6dT gl

35) A transistor when operated in Gamma-Emitter mode has R¢ =5kQ, R; =2kQ, I =1.5
mA and Ig = 3pA, the voltage gain is: /

TMAT-TfAEY Als & Faifed g W T eifaeel & R =5kQ, R; =2kQ, I =1.5 mA Tq
Ig=3pA &, @ deesr 3y &

1. 1000
2. 1700
3. 1250

4. 1500

Correct Answer :-
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36) A block of wood of mass 100g slides down an inclined plane. If the speed of the block
decreases from 20 m/s to 10 m/s, then the thermal energy produced is J

10091 GEIATA dTET FTHI HT Toh ThHeT, T T §§ Felg W A Tehall §1 AT ghs Y a1y 20 #/F
¥ 10 /A dF FA ) AT §, A ScATed AT FSAT gl

1.15)]
2. 1500J
3.1.517

4.5001J

Correct Answer :-

« 157

37) A mass ‘m’ suspended from a spring oscillates with a frequency ‘f’. The frequency of
oscillation when the mass is increased to 4m for the same spring will be ./

FAE (Fvan) d fAefed & gegae 'm' 3ngfed 'f & |19 e FXar §1 @AW
FAE H GeqAT F '4m’ dF q6a1 W aleeT 1 Agfed gl

1.2f

2. 4f

du | Fh

k2| Fh

4,

Correct Answer :-

b | Fh

38) The relative permeability of a paramagnetic substance is: /

UF HTdaehId qaref Y WIYRT IRETEIT el &

L B> 1

2.“r::l
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| W= infinity / pr = 3T

W= 0
4,

Correct Answer :-
ur > 1

39)

A radioactive nucleus “x’ undergoes a few disintegrations according to the scheme

X Poa-decay® x1PP-decay=? xxPa-decay= x:=Py-decay

If the mass number and atomic number of x are 238 and 92 respectively, then the

corresponding numbers for xsare: [/

v (BOREr aIffE K. x Da-sTTd 1 DRETTD P a-dTTD x3Dy- 87T Tl &
Haid Fo fagedl ¥ glax IeRdl ¢l Iig X $HT ScTAE TEdl U WA TET
HAM 238 Ud 92 §.xs & [T TEIET HEAT

1. 230,89
2. 230, 88
3. 230, 90

4.234,91

Correct Answer :-

40)
When an electric dipole held at an angle in a uniform electric field, the respective net force 'F°

and torque "t on the dipole are: /

o9 UHEHT fdcgd &9 A U HI0T W UF faegd gAY Eldr ¢, al giaed o shAw
ol o F 3R gargel T gl &

F=0.1=0
1.

F£0,.=0
2.

F£0.1t=0
3.
4 F=0,%=0
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Correct Answer :-

Topic:- Chemistry

1) Which of the following compounds is an ionic compound? /
fArfaf@a g & @ sla-a1 = afas i 2

1. SiCly

2. HCI

3. MgCl,

4, CC14

Correct Answer :-
(] MgCIZ

2) Which of the following compounds is a carboxylic acid? /
farafaf@a difw & & sla-a1 = FEfFafes 3w 82
1. Hydroiodic acid / gT8aI3maifss 37&al

2. Tartaric acid / TERE 3

3. Carbolic acid / Freffoled 37Fe

4. Carbonic acid / Fraffaier 31FaT

Correct Answer :-

« Tartaric acid / TTcReh 3TFdT

3) Which among the following exhibits Schottky defect? /
farfaf@a & ¥ sla-ar aicdr aw * gaifar 82

1. SrCl,

2. Nacl

3. Agl

4. Licl
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Correct Answer :-

o NaCl

4) The de-Broglie wavelength of a ball having a mass of 10 kg and velocity 10 m/s is: /

T& g FT N-gerely aerded AT e , T HT gegAT 10 fFam 31w Jor 10 HA T

6.626 x 1073 m

6.626 X 10~ m

3 6.626 X 1073 m

6.626 X 1071 m

Correct Answer :-

6.626 x 1073 m

5) Identify the correct example for a covalent solid. /
TF HgEdAoE ol & fav ¥ 3geIor A ggdanT H|
1. SiC

2.50,
3.1,

4. 7nS

Correct Answer :-

6) The number of spectral lines obtained when the excited electron of a hydrogen atom in n=5 drops to the
ground state is: /

99§33l WA F n = 5 H 3uRPYa 3cafaa seacl Awran saedr (Imds we) # fRar @
ar aoisH (Feed) Y@mEt f @ @ @

1.6
2. 10
3.5

4.15
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Correct Answer :-

* 10

7) In which one of the following reactions does new C—C bond formation take place? /
frfafaa & @ fFa 3fAfFIT F 73 C-C 9u= (aiws) F1 FATr gar @2

1. Methyl chloride + Methanamine / fAUSe FaRss + AAAHSA

2. Benzene + Ethyl bromide (AICl;) / sollel + SUSA SIATSS (AICI,)

3. Ethyl bromide + Mg (dry ether) / TT&el §IHASS + Mg (QAW M)
4. 1-Chloropropane + alc. AgCN / 1-FRIWIUT + alc. AgCN

Correct Answer :-

+ Benzene + Ethyl bromide (AICl3) / SofleT + U SIASS (AICI)

8) If 9800g of corrosive H>SO4 are let out as waste product per day from the Fertiliser
factory, then how many grams of slaked lime (Ca(OH)> ) would be required to neutralize
the waste acid?

[Given: Atomic mass of Ca = 40amu, S = 32amu, O = 16amu & H = 1amu] /

i et wiEaseR FREA ¥ yfafea 9800 I WaTR® HoS04 Y 3UfRIse 37u1g & w7 H a1’ AereT
ﬁ'msnr-n%;Eﬁmwtmaﬁqmﬂma;mﬁmﬁmg?gcaj(m(omz)aﬁrarmm
gl 2

[ 3T §: Ca T TRATY] geqA = 40amu, S FT AT FeIAT = 32amu, O FT THIY] GeTH =
16amu 3T H T 9TATY] ZeI AT = lamu]

1.9800g / 9800 ITH
2.7400¢ / 7400 ImHA
3.980g / 980 IMH

4.740g | 740 TTA

Correct Answer :-

« 7400g / 7400 ITH

9) Arrange the given elements in the increasing order of their ionic radii.
Yb3*, Pr3*, sm3+, Th3+ /

faw 71w aeat Ft 3t srafas s & 9o F9 F FTAR SqAfeyT F

Yb3+, Pr3+, sm3+, Th3+
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1. Yb3T< T3 < Sm3 < Pr3*
2. TH3 < Pr¥f< YB3 '< Sm3*
3. Sm3 < Th3 < Prt< Yb3*
4. Prit< Sm3T< T3 "< Yb3*
Correct Answer :-

. YB3 < T3 < Sm¥t< Pr3t

10) Metal A when treated with ZnSO, solution turns the solution green due to formation of a
soluble salt. Identify metal A. /

UTJ A 1 99 ZnS0, faeaar & @1y 3u=iRa fFar a1 a9 o geraefier erqor & fa#for
¥ FROT e g @ & daa 9, U1g A Ay GgarT H

1. Mn
2. Fe
3. Pb

4. Co

Correct Answer :-

11) If calcium formate is distilled with calcium benzoate, then the aldehyde formed is: /
afy Ffoeraer wife F Ffoewas doive @ e FFar smar &, @ BT ofeserss &
1. Acetophenone / THIEhalleT

2. Ethanol / TSIl

3. Propanone / 9I9aeT

4. Benzaldehyde / SSifesgIss

Correct Answer :-

« Benzaldehyde / SolfeSgISs

12) Which pair of atomic number represents s-block elements? /

YTATY] WE&AT Y T A SN s- sller F dcal H GeATA 82
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1.12,20
2.12,22
3.11, 18
4. 14, 19

Correct Answer :-

« 12,20

13) The number of nodal planes in ‘3d’ orbitalis_____ ./

3d’ FaTF (3iifaed) & ANT qaf A gE&a AT 8
1. zero / [

2.two / @&

3. three / dleT

4. five / 9T

Correct Answer :-

. two / @

14) The line spectrum of hydrogen atom will resemble that of: /

gISgIoeT ST &1 I@F Faew e & weer gom
1. Liatom / Li 9THAT]

2.Beion / Be" 3T

3. He"ion / He"™ 3T

4. Lition / Li* 3T

Correct Answer :-

« Heion / He* 3T

15) When the surface of iron is coated with zinc, the galvanized iron acts as an electrochemical
cell. The respective anode and cathode of the cell are: /

99 I A FAT F SFAT F ARG frar Srar @, o S dte Rgga wwfas da &
T A F F@1 §1 FAT: T F v 3R Fuis §

1. Fe:Zn
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2.Zn:Fe
3. Graphite : Zn / JBISC : Zn
4. Fe : graphite / Fe : JwIEC

Correct Answer :-

e Zn: Fe

16) Out of the following options, which statement is incorrect? /
fArafaf@a Reedt & & Fia-a1 Fua 707 2

1. The purple colour of KMnOQy is due to d—d electronic transitions in MnO,4 . /

KMnO, &T 9T T[T, MnO,~ H d—d Selarciiaieh ThAUT (SITAIAA) & HROT gl

2. The permanganate anion has a tetrahedral structure. /

WHIAC HOTIA H TThelhT (CeTegel) T glclr gl

3. KMnO, / H,SO, oxidises S,03%" to SO4%". /
KMnOy / HySOy, S;03% &I SO4> & 3fferdiiehc (3HTeFdISISST) el gl

4, On heating with alkaline KOH, potassium permanganate is reduced to potassium manganate. /

&I KOH & 1Y 3TH el W, NeRTA g, Meflgd dae 7 399@a g
ST Bl

Correct Answer :-

« The purple colour of KMnOQy is due to d—d electronic transitions in MnO,4 . /

KMnO, &T 9T T[T, MnO,~ H d—d Selareiiaieh ThAUT (SITAIAA) & HRT gl

17) Which radioactive isotope is produced by the n, p reaction using 28Ni60 as the target nucleus? /

wia @1 WAt FEEnfaE qaw ffE F T F gNi®0 F1 3TEEr F& n, p FHTEI g@rT
et fHaT STaT 22

1. 27COS9

2. ,gNif?
3. 5gNi®!
4, 29CL161
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Correct Answer :-

18) Which one of the following ores is nicknamed as “Fool’s Gold”? /
frafaf@a st & ¥ 5 @t 1 S 39 fmr 82
1. Copper pyrites / SIAX UTSUST

2. Bauxite ore / STFHTSC 37ITh

3. Cinnabar / T8I

4. Tron pyrites / diig ITSSC

Correct Answer :-

« TIron pyrites / olig UT8IISC

19) Which one of the following molecular formulae does not represent a member of the same
homologous series of compounds? /

ffaf@a & @ wla-ur 3Paw ¥, diff= & g waady 4ot & waeg &
ygele gl T 8?2

1. C4Hyo
2. C¢Hy4
3. CsHy
4. C3Hyg

Correct Answer :-

20) Which one of the following is NOT a characteristic feature of thermosetting polymer? /
ﬁmﬁﬁaﬁ#ﬁ-waﬁ@ﬁﬁw(ﬁmﬂ)mwﬁﬂwaﬂwaﬁ@
1. Undergo no change in their properties on heating and cooling. /
M F AR ST A R 3% O F FI$ TGd 87 g gl
2. Absence of cross linking between polymer chains. /

W(ﬁ@m)ﬂwﬁ%%ﬁ%éﬂa(ﬁaﬁ%)ﬁa@ﬂﬁuﬁl
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3. They soften on heating and harden when cooled. /
ITH I W J A g I § 3R 337 T W & g A g

4, Intermolecular forces of attraction are much stronger than those between elastomers and fibres.

/

3TRYUT & TRV def, A 3N T3l & o & A3MOTidsh dof T 3TUaT
AT B &

Correct Answer :-

« Intermolecular forces of attraction are much stronger than those between elastomers and fibres.

/

3TRYOT & JHRAMOUTdS T, TR 3R a3 & oI & HcRBOTidSh Fof T 96T
AT 81 8l

21) Which among the following should have the minimum atomic radius? /
feafaf@a & @ e o B s g aiffe?

1. Z has 12 protons and 10 electrons / Z H 12 Wil 3 10 Selaaiol ¢

2. A has 12 protons and 12 electrons / A # 12 gierie 3R 12 sﬁ'w'fll?-f gl

3. X has 12 protons and 13 electrons / X & 12 et 3K 13 Eﬁa%jt_rf gl

4.Y has 12 protons and 11 electrons / Y & 12 giere 3R 11 ga?;“ﬁ?r gl

Correct Answer :-

« Z has 12 protons and 10 electrons / Z & 12 9relsT 31X 10 '5’6}?@‘?-[ %I

22) Which of the following statements is not a demerit of Mendeleev’s Periodic table? /
farafaf@a wuat & & Fla-ur dAzeles A rad IR F71 wF T[T T B2

1. Position of the element Hydrogen. / dcd gr3atelel I Fufd|

2. Position of Lanthanides and Actinides. / o888 3R UlFeassa Fr Tafdl

3. Presence of pairs of elements like potassium ( atomic mass = 39g/mole) and argon (atomic mass
= 40g/mole). /

QIRITH (AY] GedAT=39 FH/AHIT]) HR T (WAY] GegA= = 40 AH/
AANY]) S deal & oA 1 3ureAfa |

4. He left vacant places in his Periodic table. / 3oglel 39aiT 3Tad ROl H @rell AT &r
oI feam|

Correct Answer :-
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« He left vacant places in his Periodic table. / 3eglel 379ei 3T TRUT F WTell TATAT i
oI e

23) Which of the following does not contain water of crystallization? /
frafaf@a & ¥ frus freeeaor &1 st AR ¢t g &2
1. Gypsum / forcas

2. Washing soda / g?né I AT

3. Blue vitriol / iTelT 42T (Hﬁ'CIT)

4. Baking soda / §ThaT @YST

Correct Answer :-

« Baking soda / Sf&aT AT

24) Which of the following organic compounds with molecular formula C;H-ClO can be
distinguished by neutral FeCl3? /

Pa®w g9 C,H,CI0 F T fmafaf@a sefas i 7 ¥ sia-ar 3alie Fecl,
garr e BFar S awar 82

1. Parachloro-o-cresol and Orthochloro-p-cresol / WIFeRT-0- harer 3R ﬁimﬁ-p- sharer

2. Parachloro-o-cresol and p-chlorobenzylalcohol / 3TAfFeRT-0- shaTer 3R p-
FARISSST3TohIg el

3. P-chlorobenzylalcohol and o-chlorobenzylalcohol / P-FelRIssNSel3ehigel 3 o-
FARIS ST chIg ol

4, Orthochloro-m-cresol and Orthochloro-p-cresol / JTAfFERT-m-shater 3R 3T iﬁ%ﬂﬂ-p-
shdTel

Correct Answer :-

« Parachloro-o-cresol and p-chlorobenzylalcohol / 3irafFeRi-o- shater 3R p-
FARISIS T 3Tohig el

25) Which of the following is present in dilute aqueous solution of HCI? /
HCl & a9 el feer & famafaf@a & & #ia safeya gar 32
1.H"+Cl

2. H30" + OH
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3. H30"
4, H30+ + Cl

Correct Answer :-
. H30+ + Cl

26) Which of the following is NOT a characteristic feature of DDT when used as an
insecticide? /

feArF & T F 39T Fr J ) Feafaf@a & @ sl 96 i e [dvar
oTet 82

1. It has high fat solubility. / SHH 3Td AT Gelerelieldl &

2. It has high chemical stability. / S 3T TAIAS fERAT B

3. It is not biodegradable. / Ig IR 2 P o ora Y B3 a‘-@' gl

4. Tt is highly water soluble. / Ig Ut H 3fcIT&h %Tvlﬂ?ﬁ?«r gl

Correct Answer :-

« It is highly water soluble. / I Uil & IS %ﬂﬁ?ﬁﬁ gl

27) Which of the following gases is produced when sodium acetate is decarboxylated using
sodalime? /

mmmﬁmmwmgmﬁﬁmm%m
fmfaf@a & @ sia-@ dw AT e 2

1. CO,
2. C,Hy
3. C,H,
4. CH,

Correct Answer :-

. CHy4

28) Which of the following is the correct decreasing order of acid strengths of the given
compounds? /

i@ & @ Fia-ar ffFT Y 3 aHanEt F1 -9 gear FH &2
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P = CH,CICOOH, Q = CHyOHCOOH, R = C¢HsOH S = CH;COOH
1.P>Q>S>R
2.8>P>Q>R
3.Q>P>S>R
4.Q>R>P>S

Correct Answer :-

. P>Q>S>R

29) Which of the following elements shows same chemical properties as strontium? /
frrfaf@a & ¥ Fla-ar aca dvng (FiftTw) F gaer Tafas qor gofar 82
1. Zn

2. Na

3. Mg

4. Al

Correct Answer :-

30) Lime water turns milky when carbon dioxide is passed through it. On passing excess of

CO, milky precipitate dissolves because of the formation of .

I & I IO g 1T B ST $HSF ATCIH ¥ FIAeT SISINFAISs yaTed fHAT SArer
1 A AT # COo, vaIfRa F W gt sEay ¥ AT & FRor Her @
ST Bl

1. Ca(HCO3),
2. CaCl,

3. CaCOg3

4. Ca(OH),

Correct Answer :-

. Ca(HCO3)2

31) Identify the repeating unit present in the polymer obtained by heating Caprolactame. /
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FidReH M T FIH WIod T AT Sgerd F Aleg Al sHE M GEE
1. [~(CH,)s-CO-NH-],-

2. ~[~(CHy)5-CO-NH-],-

3. -[~CO-(CHy)5-NH-], -

4. ~[~CO~(CHyp)s-NH-,~

Correct Answer :-

* ~[-CO-(CHy)s-NH-],—

32) Identify the organic compound which has a pleasant smell and is used in making
perfumes. /

39 FfaF AffF A ggae &, S 70 gEg @@ ¢ iR Saewr 39 57 ==
A g Sar B

1. CH3CH,CH;

2. CH;CH,COOCH;
3. CH;COOH

4. CH;SH

Correct Answer :-

« CH;3CH,COOCH;

33) Silver is found in nature in the combined state as their ./

e (o) wafa & @gaa saewr # @& N & 9T ST B
1. oxide / 3iTFHTSS

2. cyanides / OTIATSS

3. sulphide / HehISs

4. carbonate / FTafeic

Correct Answer :-

+ sulphide / HeWhISs

34) Out of the following options, which statement is INCORRECT? /
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farafaf@a Reear d @, Fla-a1 FyaT 797 72
1. Acetone forms crystalline bisulphite adduct with saturated solution of sodium bisulphite. /

THIel, AfSTH asdehse & HJod Ol & @Y fheediy disdchge ANlcre
AT gl

2. Ethanal undergoes Nucleophilic addition reaction with CH3Mgl followed by hydrolysis to form
Propan-2-ol. /

s¥ATT CH3Mgl & A1 wgfarerdiithicleh AMEMcHs JTATHAT F grepl IoRdr & o
dTC NUT-2-31TeT & AT & T STa-3199esT giar gl

3. Benzophenone reacts slowly with HCN when compared to Benzaldehyde. /

Ifg Safesgrss @ ool & ST, A Selithadlel HON & @y €iR-e fAfhar &
gl

4. Formaldehyde is the least reactive of all aldehydes and ketones towards Nucleophilic addition

reactions. /

wgfFerdiithicleh AaticAe ATATHATAT & Ui Felr vicsgrsst AR et 7
BIHTesg8s Tad e fATharee gl

Correct Answer :-

« Formaldehyde is the least reactive of all aldehydes and ketones towards Nucleophilic addition

reactions. /

sgfeeraifthioren AencAs HfAfFAT & ufa @l ulesersst iR Fa=r 7
BIHTesg8s Tad i fATHareie gl

35) Gabriel phthalimide synthesis is used for the preparation of A

AT FATAATES WAWOT FT 3YATr & 3THA (I & AT R ST g
1.2° Amines / 2° 37HTST

2.1° Amines / 1° 37HATSH
3. Amides / 3THATSS

4.3" Amines / 3° 37HTST

Correct Answer :-

« 1° Amines / 1° 37HSH

36) Out of the following options, which statement is INCORRECT? /

farafaf@a Reedt & A, Fla-w1 Faa7 78 74 32
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1. All metal carbonates react with acid to give salt, water and CO>. /

qall 1q Fefcie FaqT, ST 3R o, & & AU 3Fa & |y HATHAT F &

2. All metal oxide reacts with water to give salt and acid. /

el a1 3iieFdTSs, FauT 3R 3 S & oI ool & @y JfAfshar wd gl

3. Some nonmetal oxides react with water to form acid. /

S U] IFASS 3 Tl & fAT oo & @y ifafshar < &

4. Some metals react with acids to give salt and hydrogen. /

S YU, a0l IR ETSIeTe ool & AU 3Fer & @y fAfhar axd &

Correct Answer :-

« All metal oxide reacts with water to give salt and acid. /

el arq 3iieFdTSs, Faur 3R 3 3 & oI Sfel & @y JfAfshar wd gl

37) A basic organic compound with molecular formula CgH ;5N reacts with

benzenesulphonyl chloride to form a solid which is soluble in aqueous NaOH.
Identify the compound. /

MPTF I CgH 5N 16T T & Frefas s vF o &1 fafor s & e

SATHCHIAST FANGS F 1Y FATHAT FIar 8,5 ST NaOH 7 gererefier ¢ 3@
i Y ggE F:

1. N-Ethylbutanamine / N—U@ﬂ@c\?ﬂm

2. N,N-Dimethylbutanamine / N,N-mﬂwgﬁmﬁﬂ'
3. N-Methylpentanamine / N-A¥ed¢ArHSA

4. 2-Hexanamine / 2-gdTeITHISsT

Correct Answer :-

« 2-Hexanamine / 2-gFaTATHSST

38) Sodium carbonate is a basic salt because it is a salt of: /
fEgw FEfde & T a9 § FiF 78 FFT #1 F9or ¢
1. Strong acid and weak base / 9&eT 37FdT 3iR @va &

2. Strong acid and strong base / 9dcl 3TFel 3R g9 &R

3. Weak acid and strong base /%ﬁ?—r 3FdT 3R gad &R
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4. Weak acid and weak base/gccm 3FT 3R gscm &

Correct Answer :-

« Weak acid and strong base /g‘ciﬁ 3FT 3R gad &R

39)
Sodium metal crystallizes in body-centred cubic lattice with the edge length of 4.29 A, The

respective length of the body diagonal and radius of a unit cell of the metal are: /

AT o1g, 4.29 A FR @aTs FF Hemdied g0 Jas & fhecaidd aidl ol o1g
& s ghtc a0 & e T ik Bear & #@eg e §

. 1.86 A,7.43 A

, 743 A,186 A

5 743 A 429 A

. 429 A,1.86 A

Correct Answer :-

743 A,186 A

40)
Given below are values of Henrv's Law constant for 4 gases dissolved in water at
293K and at a pressure P1.

Gas Ky /kbar
N2 T6.48
He 144 97
H2 69.16
02 34 86

Which one of the given gases is most soluble in water? /
293 &feas 3R @@ P W o & fQufeg ger g 4 36t & fov g8 Fam
aas & 719 # Be 7w §

EICs] Kg /kbar
Nz 7648
He 144 97
Hz 69.16
02 34 .86

& o A A F 7 Ja 7 wfwan geasfe
1. H,
2.02
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3. He

4.N,

Correct Answer :-

Topic:- General Studies

1) Pradyota dynasty is an ancient dynasty that belongs to Mahajanpadas period which ruled

over J
Yedld 9 UF YTl TS99 § S AgTedg Fie § §afad § oA w
e

1. Matsya / #cE
2. Malwa / ATeldT
3. Vatsa / dcH

4. Avanti / 31dfed

Correct Answer :-

« Avanti/ 3dfed

2) The Department of Sports and Youth Welfare, Madhya Pradesh has started CM Cup
(Mukhyamantri Cup) with special focus on traditional sports in which of the following
years? /

farafaf@a & & frg ad & @ar 3 gar Feamor RQemn, e weor A TRIRF @&t W
e e & F @y Wew F9 (FEAN F9) 7 goIT F AR

1. 2017
2.2018
3.2015

4.2016

Correct Answer :-

« 2015

3) Which among the following districts of Madhya Pradesh does not passes through Tropic

of Cancer? /
gcollegeduniag



AL wawr & Frfafa Sl # @ s 76 W@ F @ 7 qeRar Fwar 2
1. Barwani / §3dTaiT
2. Umariya / 3ARET

3. Sehore / HIER
4. Shahdhol / 2MgsTel

Correct Answer :-

« Barwani / S3drail

4) The Project VCR (Virtual Classroom) by the Department of Science and Technology, GoMP (then
Dept.of Information Technology) to bring quality in education has been named as: /

e & aquracar A F v RAawer sk dieaifrdr Remr, e w@ur amwe (@ gEer
wiegifarhr fasmr) qarr ot fdaR (Fdsre Faraw) ® @ FwEr arar e

1. VIDYA / faear

2. SHANTINIKATEN / enfafashcst
3. SHIKSHA / fovar

4. SARASWATI / T3

Correct Answer :-

 VIDYA /faear

5) Fresh milk is boiled before consumption because: /
WA ¥ TES AT g F FaTeN S § i
1. Boiling milk improves its texture and taste. /
GY I Jdlell & Y & Hued 3R @i # FUR 37T &
2. Boiling milk kills bacteria present in the milk. /
U F AR & gy ¥ 3UReYd ATy W S
3. Boiling milk increases the protein percentage. /

qg N 3 ¥ WA wfderd dgar g

4, Boiling retains the nutrients, especially the B group of vitamins. /

FaYT IV dedl SR W@l g, THdR W Ferfds & s @og &l

Correct Answer :-

gcollegedumas
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 Boiling milk kills bacteria present in the milk. /

GY Y Idlell & ¥ H YR Shar] A S gl

6) Durva Mudris of Indore was awarded Eklavya Award 2018 for excellence in which of
the following sports? /

%R ¥ gat 7eie 71 Fafef@a & & e @9 § scsear & v wwaer R
2018 & gFATfAd foraT aram?

1. Basketball / STEhcaTl
2. Softball / GTFeaTel
3. Tennis / ¢fa g

4. Swimming / RTehT

Correct Answer :-
« Softball / HTFeETel

7) The Department of Sports and Youth Welfare, Madhya Pradesh has hosted All India
Civil Services Kabbadi Tournament 2019 in ./

A 3R JaT FeAmor fasmr, Feg yeu A # If@rer ARy Rfder dar Fas3t Tavie 2019
T AsTarAr dr ot

1. Bhopal / #dTer
2. Gwalior / Fa1felR—IT
3. Indore / 3?31'

4. Jabalpur / STeleTqY

Correct Answer :-

« Bhopal / &qTer

8) Which among the following rivers of Madhya Pradesh is considered as the least polluted
river of India? /

ey your Fr Arafaf@a & ¥ frw 7 F aRa A w90 FA GG J& AW ST
82

1. Chambal / Il
2. Tapti / dATCAT

3. Kshipra / fe39T
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4. Narmada / mﬁar

Correct Answer :-

« Chambal / Ieel

9) Which among following is not a tributary of Narmada? /
feafaf@a & @ Fla-dt Toiar fr wEEs a8 T8 2
1. Shakkar / T

2. Tawa / ddT

3. Banjar / §oX

4. Kuno / ET-IT

Correct Answer :-

10) Which of the following is a non-metal capable of conducting electricity? /
fPrafaf@a sng & ¥ Fi9 Rega F1 Faga w3 § T {2

1. Copper / dreT

2. Graphite / JHIEC

3. Aluminium / TIfATAIH

4. Sulphur / Mg

Correct Answer :-

« Graphite / JHISC

11) Which of the following is a noble gas? / fFIfaf@a & ¥ -t seFse (Fd«) A7
&2

1. Lithium / forfaas
2. Oxygen / 3TerdIotel
3. Argon/ 33T

4. Nitrogen / sITS¢IoTe]

Correct Answer :-
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. Argon/ 37T

12) Who among the following from Madhya Pradesh has won a Silver medal in Archery
women’s compound team event at the Asian Games 2018? /

ALY e ¥ Aefaf@a # ¥ fFas o @« 2018 # dRere Afganst i wuEs
aH gdc F & ISF AT &2

1. Harshita Rana / 3iﬁa| 1017
2. Anushka Srivastav / 3feSehT Aaredaga
3. Muskan Kirar / W IEZAE

4. Pranjal Agarwal / 9TSTel 37a1aTel

Correct Answer :-

+ Muskan Kirar / JEhleT R

13) Where is the Indian Space Research Organisation (ISRO) headquartered in? /
AT IHANET IHTHUT IS (FHN) FT ACAGT Fel 04T 82

1. New Delhi/ 58 f&oelr

2. Bengaluru / a?'l?:B'T

3. Mumbai / Z'fl;clé'
4. Chennai / ﬁrﬂé

Correct Answer :-
 Bengaluru / EI?IT:RT

14) India's fastest supercomputer was unveiled in which of the following cities of India in
2018?/

ARa F farfaf@a aet F @ e oRa & ¥a@ a9 IR FEYE FT HATE0T Fel
g = ar?

1. New Delhi/ 18 feeel
2. Bengaluru / a?m;:

3. Mumbai / ﬂﬁé’
4. Pune / 1:-I__:Cfl'

Correct Answer :-
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15) Ujjain was the capital of , according to the ancient history of Madhya
Pradesh. /

HEY o & Gl 3fae & AR, Foatet $T T oY
1. Magadh / HITT

2. Kasi / 1l

3. Vatsa / dcH

4. Avanti / 31dfed

Correct Answer :-

« Avanti / 3dfed

16) In 2019, Tech giant ‘Google’ has unveiled which new app that aims to help children in
primary school to read and learn in Hindi and English? /

dseeh s Erer A fFw AT 0 F7 srma}er fear @ o 3T arafaw
Regrea & seat & R 3w seh & geen iR famer 2

1. Bolo /el
2. Samjho / FHSI
3. Seekho / &r@r
4. Learn / ool

Correct Answer :-

« Bolo /&raT

17) The Holkar dynasty of Indore was founded by: /

$aR & glaa TG Y FATI ganT @ S oY
1. Shivaji / frarsir

2. Malhar Rao / #egR {d

3. Bajirao I / STSIRTA aﬁ?hzr

4. Nana Fadnavis / SITeIT Hha«1d1d

Correct Answer :-
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o Malhar Rao / HegX U9

18) The velocity of a body at rest is: / AT A A #1 AT I AT &
1. Unity / SIS

2. Negative / HUIcHD

3. Zero | A

4. Infinite / 3Tl

Correct Answer :-

o Zero / W

19) Kumbh Mela in Ujjain is held on the bank of which among the following rivers? /
@ & § e a8 § 9 W 3o 7 T dAer ST frar S ¥
1. Chambal / T&el

2. Betwa / SicidT

3. Kshipra / f&9T

4. Narmada / sTHgT

Correct Answer :-

« Kshipra / feqar

20) Splitting of white light into its seven component colours is called: /
The THTT & WA GeF W # AT Fgaran &

1. Diffusion / faeRoT

2. Diffraction / fadade

3. Dispersion / JehToTe

4. Scattering / To@RT@

Correct Answer :-

« Dispersion / WehroTel
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